



St. Louis County, Minnesota

Date of Report: 12/15/2025 7:58:11 PM

**General Details** 

 Parcel ID:
 141-0050-03080

 Document:
 Torrens - 828915.0

 Document Date:
 12/14/2006

**Legal Description Details** 

Plat Name: HIBBING

Section Township Range Lot Block

19 57 21 -

Description: SE1/4 of NW1/4 EXCEPT Railroad Right of Way 1 61/100 acres \*Surface Only\*

**Taxpayer Details** 

Taxpayer Name UNITED STATES STEEL CORPORATION

and Address: C/O RYAN LLC 1 PPG PL STE 2810

PITTSBURGH PA 15222

**Owner Details** 

Owner Name UNITED STATES STEEL CORPORATION

Payable 2025 Tax Summary

2025 - Net Tax \$742.00

2025 - Special Assessments \$0.00

2025 - Total Tax & Special Assessments \$742.00

**Current Tax Due (as of 12/14/2025)** 

Due May 15		Due October 15		Total Due		
2025 - 1st Half Tax	\$371.00	2025 - 2nd Half Tax	\$371.00	2025 - 1st Half Tax Due	\$0.00	
2025 - 1st Half Tax Paid	\$371.00	2025 - 2nd Half Tax Paid	\$371.00	2025 - 2nd Half Tax Due	\$0.00	
2025 - 1st Half Due	\$0.00	2025 - 2nd Half Due	\$0.00	2025 - Total Due	\$0.00	

**Parcel Details** 

Property Address: School District: 701
Tax Increment District: Property/Homesteader: -

Assessment Details (2025 Payable 2026)										
Class Code (Legend)	The state of the s									
234	0 - Non Homestead	\$19,600	\$0	\$19,600	\$0	\$0	-			
580	0 - Non Homestead	\$13,000	\$18,700	\$31,700	\$0	\$0	-			
572	0 - Non Homestead	\$400	\$0	\$400	\$0	\$0	-			
801	0 - Non Homestead	\$200	\$0	\$200	\$0	\$0	-			
	Total: \$33,200 \$18,700 \$51,900 \$0 \$0 400									





St. Louis County, Minnesota

Date of Report: 12/15/2025 7:58:11 PM

						<u>'</u>	12/10/2020 1.50.111 W		
	Land Details								
Dee	ded Acres:	38.39							
Wat	erfront:	-							
Wat	er Front Feet:	0.00							
Wat	er Code & Desc:	-							
Gas	Code & Desc:	-							
Sew	er Code & Desc:	-							
Lot	Width:	0.00							
Lot	Depth:	0.00							
The	dimensions shown are no	ot guaranteed to be s	survey quality.	Additional lo	information can be f	ound at			
nttps	s://apps.stiouiscountymn.g	gov/webPlatsiframe/			nils (CONVEYOR	ns, please email PropertyTa	ax@stiouiscountymn.gov.		
	mprovement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.		
	MATERIALS	1970	10,3		11,080	-	MC - MATL CLSD		
	STORAGE								
	Segment	Story	Width	Length	Area	Foundati	n		
	BAS	1	12	116	1,392	CANTILE	/ER		
	BAS	1	12	184	2,208	PIERS AND FO	OTINGS		
	BAS	1	16	162	2,592	PIERS AND FO	OTINGS		
	BAS	1	22	34	748	FOUNDAT	ION		
	BAS	1	42	62	2,604	FOUNDAT	ION		
BAS 2		24	32 768 PIERS AND FOOTINGS			OTINGS			
			Improvem	ent 2 Det	ails (60X116 UT	L)			
ı	mprovement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.		
UTILITY 1990 6,960		6,960	-	Q - QUONSET					
Segment Story Width Length				Length	Area	Foundati	on		
	BAS	1	60 116 6,960		FOUNDATION				
			Improvem	nent 3 De	tails (20X40 UTL	-)			
ı	mprovement Type	Year Built	Main Flo	Floor Ft <sup>2</sup> Gross Area Ft <sup>2</sup> Basement Finish Style Cod		Style Code & Desc.			
	UTILITY	1975	80	0	800	-	LT - LT UTILITY		
	Segment	Story	Width	Length	Area	Foundati	on		
	BAS	1	20	40	800	FLOATING	SLAB		
			Improvem	ent 4 Det	ails (80'W TAN	<b>(</b> )			
ı	mprovement Type	Year Built	Main Floor Ft <sup>2</sup>		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.		
	1970 241,152		152	241,152	-	ST - STORAGETNK			
	Segment	Story	Width	Length	Area	Foundati	on		
	BAS	0	0	0	241,152	-			
			Improvem	nent 5 De	tails (18X38 UTL	-)			
ı	mprovement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.		
	UTILITY	1975	68		684 -		LT - LT UTILITY		
	Segment	Story	Width	Length	Area	Foundati	on		
	BAS	1	18	38	684	FOUNDAT	ION		
1									





St. Louis County, Minnesota

Date of Report: 12/15/2025 7:58:11 PM

		-								
		•		Details (28X38)						
Improvement Type	Year Built	Main Floor Ft <sup>2</sup> Gross Area Ft <sup>2</sup>		Gross Area Ft <sup>2</sup>	<b>Basement Finish</b>	Style Code & Desc.				
MECHANICAL BUILDING	1970	1,064		1,064	-	-				
Segment	Story	Width	Length	Area	Foundat	ion				
BAS	1	28	38	1,064	FOUNDAT	TON				
	Improvement 7 Details (14X14 UTL)									
Improvement Type Year Built Main Floor Ft <sup>2</sup> Gross Area Ft <sup>2</sup> Basement Finish Style Code & Desc										
UTILITY	1975	19	6	196	-	LT - LT UTILITY				
Segment	Story	Width	Length	Area	Foundation					
BAS	1	14	14	196	POST ON GF	ROUND				
Improvement 8 Details (8X12 UTL)										
Improvement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish Style Code & De					
UTILITY	1975	96	3	96	-	LT - LT UTILITY				
Segment	Story	Width	Length	Area	Foundation					
BAS	1	8	12	96	POST ON GROUND					
		Improveme	ent 9 Deta	ails (RR TRACK	S)					
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.				
	1960	2,47	73	2,473	-	-				
Segment	Story	Width	Length	Area	Foundation					
BAS	0	0	0	175	-					
BAS	0	0	0	930	-					
BAS	0	0	0	1,368	-					
	Sale	s Reported	to the St	. Louis County A	Auditor					
No Sales information r		o .topo.tou	01	. Louis Gounty 7						
NO Sales IIIIOIIIIalion I	eporteu.									





St. Louis County, Minnesota

Date of Report: 12/15/2025 7:58:11 PM

		A	ssessment Histo	ory				
Year	Class Code (Legend)	Land EMV	Bldg EMV	Total EMV	Def Land EMV	De Bld EM	lg	Net Tax Capacity
	234	\$19,600	\$0	\$19,600	\$0	\$0	)	-
	580	\$13,000	\$18,700	\$31,700	\$0	\$0	)	-
2024 Payable 2025	572	\$400	\$0	\$400	\$0	\$0	)	-
,	801	\$200	\$0	\$200	\$0	\$0	)	-
	Total	\$33,200	\$18,700	\$51,900	\$0	\$0	)	400.00
	234	\$18,700	\$0	\$18,700	\$0	\$0	)	-
	580	\$12,400	\$18,700	\$31,100	\$0	\$0	)	-
2023 Payable 2024	572	\$400	\$0	\$400	\$0	\$0	)	-
,	801	\$100	\$0	\$100	\$0	\$0	)	-
	Total	\$31,600	\$18,700	\$50,300	\$0	\$0	)	382.00
	234	\$17,400	\$0	\$17,400	\$0	\$0	)	-
	580	\$11,600	\$18,700	\$30,300	\$0	\$0	)	-
2022 Payable 2023	572	\$400	\$0	\$400	\$0	\$0	)	-
ĺ	801	\$100	\$0	\$100	\$0	\$0	)	-
	Total	\$29,500	\$18,700	\$48,200	\$0	\$0	)	356.00
	234	\$13,900	\$0	\$13,900	\$0	\$0	)	-
Ī	580	\$9,200	\$18,700	\$27,900	\$0	\$0	)	-
2021 Payable 2022	572	\$400	\$0	\$400	\$0	\$0	)	-
	801	\$100	\$0	\$100	\$0	\$0	)	-
	Total	\$23,600	\$18,700	\$42,300	\$0	\$0	)	286.00
		1	Tax Detail Histor	ry				
Tax Year	Tax	Special Assessments	Total Tax & Special Assessments	Taxable Land MV	Taxable Bui MV	lding	Total 1	Taxable MV
2024	\$694.00	\$0.00	\$694.00	\$19,100	\$0		\$19,100	
2023	\$736.00	\$0.00	\$736.00	\$17,800	\$0		\$	17,800
2022	\$616.00	\$0.00	\$616.00	\$14,300	\$0	\$0 \$14		14,300

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.